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14 25m32 EO HHY |EPE 3 |EhyENEENREE(ZEEE 8.26
15 24m98 £H BRE |EB 3 |EhyENEEHREE|ZEEE 8.26
16 24m94 E OEH | THRIF 3 |BREHEMRXFE |HETE 8.27
17 24m87 AKX & |EHWL 2 [ZERJ-AVEYVY |ZERE 9.05
18 24m50 hlll BHE  |BE 2 |BhREHXFE |HEHRT 8.29
19 24m32 HiE BR  |EE 2 |FRESHREFIE|IZSEEE 8.16
20 24m25 TH ER (B 3 |RPFZEEHMRXTE |REHT 8.29
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iR
Bz ECER K4 g  %f BREA BT A-H
1 2618 ROWR FK  FREN 2 =ZEERHEER HEHR 7.30
(16.06 , 1m57 , 11m13 , 28.32)
2 2590 n BE BE B 3 HEBERK —ERE 6.27
(16.30, 1Tm59 , 9m78 , 28.28 )
3 2349 R HFX Elm E=x 3 HEBEEERMK —ERE 6.27
(14.78 , 1m25 , 7m61 , 26.60 )
4 2342 m i RE BB 3 dP@EE =EEE 6.27
(15.07 , 1m30 , 9m21 , 28.10)
5 2252 R WX & "+ 3 HEBEERMK —ERE 6.27
(15.90 , 1m44 , 7m72 , 28.54 )
6 2248 R BHEH BFER FREN 2 FEEEERK =ERE 6.27
(15.09 , 1m20 , 8m47 , 27.43)
7 2244 AR OWAE BRI 2 HhEFEBERK =ERE 6.27
(15.20 , 1m30 , 7m41 , 27.64 )
8 2095 m EI &% (FEE 3 HEBERK —ERE 6.27
(16.16, 1m25 , 8m31 , 28.11)
9 2092 R "W EBE B 2 HhEFEBERK —ERE 6.27
(15.60 , 1m25 , 7m14 , 28.08 )
10 2063 " RE XE ¥ 3 EAEfE =EERE 6.27
(16.65, 1m35 , 6m92 , 27.93 )
11 2062 R BE BF Akt 3 HEFEBERK —ERE 6.27
(17.43 , 1m44 , 9m63 , 30.42 )
12 1978 R A% 1K EHW 3 HEFEBERK —ERE 6.27
(16.42 , 1m30 , 7m55 , 29.26 )
13 1952 R E £k —F 3 HEBERK —ERE 6.27
(16.08 , 1m20 , 7m36 , 28.68 )
14 1897 RO BT RER 3 HEFEBERK —ERE 6.27
(16.75, 1m35 , 7m46 , 30.51 )
15 1887 R BN BHE B4 3 HEFEBERK =ERE 6.27
(16.68 , Tm25 , 7m16 , 29.06 )
16 1852 = HBE$FEHBA 45kt 3 HEFAEE —ERE 6.27
(17.28 , 1m44 , 7m43 , 31.71)
17 1844 m JOBFE BF 3 HEBERK =“ERE 6.27
(16.95, 1m15, 8m56 , 29.19 )
18 1797 R FE FE FRE 2 HFEBERK —ERE 6.27
(17.72 , 1m20 , 7m28 , 28.21 )
19 1781 R fBHE T FHRF 2 HhEFEBERK —ERE 6.27
(18.81, 1m25 , 8m95 , 29.02 )
20 1773 "R Al BE ByHE 3 HEFEBERK —ERE 6.27
(18.17,1m20 , 6m79 , 27.53 )




